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1. This booklet contains following tests : 

 

 

 
 

2. You will be given a composite time of 60 minutes to answer all the above tests. There is no 

separate time for separate tests. You may distribute the time as you wish, but you should 

remember that it is necessary for you to qualify in each of the above tests separately. 

3. There will be penalty for wrong answers marked by you. For each such question, for which 

wrong answer has been given by you, one-fourth marks, assigned to that question, will be 

deducted as penalty.   

4. If you want to do rough work, you can do so in this booklet itself, but not on the answer 

sheet. For this purpose, use the empty space in the margin or anywhere else you find in this 

question booklet. Do not use any other paper. 

5. Indicate your answers on the separate answer-sheet by using HB pencil only. Follow the 

instructions given on the answer sheet for indicating your answers.  

6. If your answer sheet contains more than 100 answer-spaces, use only the first 100 answer 

spaces for answering the 100 questions given in this booklet. 

7. Do not open the booklet, until you are instructed to do so. When the instruction for opening 

the booklet is given, do not try to remove the wire staples at the left side of the booklet. With 

the help of a paper-cutter, cut and open the front page from the right hand edge.  

8. Immediately after opening the booklet, please verify that all the pages containing questions 

from 1 to 100, are properly printed. Then only start answering the tests. In case the booklet 

is defective, get it replaced by another test booklet bearing the same Test Form Number. 
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Test – I 
REASONING ABILITY 

(Q.1# Statement : Telecom minister Ravi Shankar Prasad invited Japanese companies to invest in the ‘Digital 
India’ and ‘Make in India’ programmes.  

 Which of the following can be a possible effect of the above statement ? 

 1). The Japanese companies will be working towards joint projects in green mobile base station, co-
operative structure for detecting and quick response to cyber attacks, under the Japan–India Combat 
Spam Project. 

 2). Japanese companies who will manufacture in India will get export benefits from Indian Government. 

 3). Japan is a major manufacturing power house, manufacturing about 1 trillion dollar of goods, which 
constitutes about 20 percent of its 5 trillion dollar GDP while India is a land of opportunities with a 
potential of providing 600 million broadband connections in next 5–6 years, which will entail an 
investment of tens of billions dollar. Considering these factors, India becomes a natural partner for 
Japan to execute joint projects for manufacturing of electronic and telecom goods and equipment here 
in India.  

 4). Only 1 and 2  

 5). All of the above 

(Q.2# Meghalaya was recently added to the country’s railway map with Prime Minister Narendra Modi 
flagging off a first passenger train to the North–Eastern state. He compared the North–East region to 
Goddess Lakshmi, and said development of the region will help the rest of India. 

 Which of the following may not be consequence of the given information ? 

 A) With the commissioning of this line Meghalaya becomes the last state among the seven sisters of 
North–East in railway network. 

 B) With the connectivity of railway, Meghalaya people can easily reach to different regions of the state. 

 C) Meghalaya will receive a lot of tourist from different parts of India and World. 

 D) People of India will not travel to Meghalaya because of the fear of different terrorist activity in the 
state. 

 1). Only A  2). Only B  3). Only C  4). Only D  5). None of these 

 Directions (Q.3-4) : Study the following information carefully and answer the question given below. 

 ‘A + B’ means, A is father of B.  

 ‘A – B’ means, A is mother of B. 

 ‘A x B’ means, A is brother of B.  

 ‘A ÷ B’ means, A is sister of B. 

(Q.3#  How is P related to T in the given expression P + J x L ÷ Q – T ? 

 1). Grandson   2). Grandfather   3). Father  

 4). Can’t be determined  5). None of these 

(Q.4#  Which of the following symbols should replace question mark (?) in the give expression in order to 
make the relation W is the niece of M definitely true ? 

 M x P ? I – W ÷ S 

 1). +  2). ÷  3). Either x or ÷  4). Either + or –  5). None of these 
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 Directions (Q.5-7): Study the following information carefully and answer the questions given below. 

 A group of seven teachers A, B, C, D, E, F and G teaches seven different subjects–Maths, Economics, 
English, Hindi Sanskrit, History and Computer in seven different periods I, II, III, IV, V, VI and VII, but not 
necessarily in the same order. C teaches in period III but neither teaches Computer nor Sanskrit. E 
teaches English in period VI. A teaches History but not in period I or V. The one who teaches Maths 
teaches in period II. The one who teaches in period I teaches Hindi. F teaches in Period V. G teaches 
Computer in period IV. D does not teach Maths. 

(Q.5#  Who among the following teaches Maths ? 

 1). B   2). D   3). C   

 4). F   5). Other than given options 

(Q.6#  C teaches which of the following subject ? 

 1). Hindi   2). Economics   3). Sanskrit   

 4). Cannot be determined 5). Other than give options 

(Q.7#  D teaches in which of the following periods ? 

 1). V   2). III   3). I   

 4). Cannot be determined 5). Other than given options 

(Q.8#  Government has approved dedicated air support for ITBP to help the force take on superior 
infrastructure capabilities of China on the Siachen-Indian border. Which of the following can be inferred 
from the above statement ? (An inference is something that is not directly stated but can be inferred 
from the given information.)  

 1). Government has approved and allocated funds for leasing of two choppers which will be under the 
exclusive command of ITBP for rescue- reconnaissance operations on the border. 

 2). Infrastructure in the border areas of Arunachal Pradesh must be strengthened to enhance troop’s 
mobility and border security in the border areas. 

 3). Government must work on strategic reforms in defence sector along the China border. 

 4). India cannot rise up to the Chinese threat without developing a competitive, word–class 
manufacturing base. 

 5). The two sides must show their willingness and sincerity to maintain peace and tranquillity in the 
border areas. 

(Q.9#  State Oil marketing companies are selling mini cooking gas cylinder of 5 kg across the country at 
subsidized rates of Rs.150 each to over  Rs. 2.75 lakh consumers. 

 Which of the following can be concluded from the above statements ? 

 1). Up to 34 cylinders of 5 kg capacity are given at subsidized rate to a customer in a year and 
consumption beyond 34 cylinders in a year is at non–subsidized rate. 

 2). The 5 kg cylinders will not be used in taxis, restaurants or in catering units. 

 3). Only registered consumers will get subsidy on the small cylinder, while unregistered customers can 
purchase these cylinders from petrol pumps. 

 4). Small 5 kg cylinders are popular in far–flung areas, villages and small towns. 

 5). These cylinders are boon to the people living in remote and difficult region. 




